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SECTION -1
Wug -
CHILD DEVELOPMENT AND PEDAGOGY
=T fasha wd frgmemes
There are 30 questions in all in this section.
All questions are compulsory.
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1. Nine year old student's moral reasoning is based on

@ -

- (B)
(C)
(D)

the physical consequences of an action determme goodness or badncss

‘an action is Judged to be right if it is instrumental in satisfying one’s own needs

. obeying rules should bring some sort of benefit or return

the right action is one that would be carried but by someone whose behaviour is
likely to impress others.
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Which of the following examples is not the result ol motivation ?

Krishna has increased her time of dancing from one to two hours

John Stuart Mill started studying philosophy from the age of 12
Jagan has started to show interest in the ‘process of breathing

Ram has progressed speedily in correlating the trends of modern and ancient
history.
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3. Which of the following will work as an effective praise by the teacher ?

(A)
(B)

(©)

»)

Focuses student’s allention on their own task relevant behaviour

Uses . the accomplishment of peers as the context for describing students’
present accornplishment '

Provides infofmatipn to students about their competence or the value of their
accomplishment

Uses positive behavmuml support whcn students seem unable to conirol their
behaviour, -

ﬁmﬁﬁwwuwmﬁmﬁaﬁm%%ﬁwﬁm ?

(a) fﬁzﬁﬁeﬁ#mmaﬁmmﬁuﬁ—uﬁmwm%m-m%
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Ji%)) mﬁmﬁmﬁwamaﬁﬁwm%fmmmﬁwwmméﬂm
‘ ExGI A o
4. Which of the following is an example of lcarmng ?
w (ﬂ“f‘ting the teacher by folding hands
(B)  Salivation on seeing the tasty food
(€}  Climbing. running and throwing between 3 to 5 years
(D} All of these. _
frea & A 9. 1 gAY sifemy F geistg o d 7
() B9 SIE FT AUVNYS 1 SIRERT T
(B) @REE WS @ g7 g T @R H e
(€} &, W UE EEA 9 O o R sear s
0 FHAEG -
5. Which of the following is least important in the process of thinking ?
(A} Pictures : (B) Signs and symbols
(C)  Muscular activities (D) Language.
frm R B wmaﬁmﬁmwm@% ?
@ fax B) wdrw wd s
© ety B - (D) e |
6. The behaviour showmg mlrapersondl mtelhgen(.e is
) detecting another's underlying intentions and desires
(B) reading another's mood ' : _ .
(€} discriminating among such similar emotions as sadness and regret
(D} using knowledge of others to inﬂuence their thoughts and behaviours.
At g W veila S Ten =R ?
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7.  Which of the following sfrategies or implications is against the spirit of promoting
gender equity keeping in mind gender differences ?

&)
(B)

©

(D)

Tell students that they can be successful in stereotypical subject area

Assume that both genders have simiiar potential for developing physu:al and
motor skills especially during the elementary school years

Provide support to boys. in develeping self confidence in their ability to control
the world and solve problems

Teach both genders less aggressive and pro-social ways of mteractmg with each
other.

= H A ﬁ%m/mmmmﬁmim%ﬁwﬁmw%w
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el =1 faar snd |
8. A teacher can understand community based individual differences within any group by

paying attention to _ :

- (A} eye contact =) iﬂtelligence

- ([C). language and expression . (D)  homework.
TF AT T aﬁwﬁwmmﬁﬁwﬁmmﬁfmaﬁaﬁwm%
(4) el § wed F oemeR T (B)  9fg % YR W
&y oW UE ivsafe & SuR W (D). EEE F IMUR W |

9.  For nurturing creativity a.teacher should keep his students

(4) - task focused . ' (B) goal focused

_[C)  task focused and goal iocused (D)  reward focused.
JEEIoR % Tom ¥, UF SEHGE H A9 foenfelat w1 v e
@) wE s | B @ HhEa
[C & fsa o o Fid (D) YR IR 1

10. Which of the following is not a characteristic of socialiy disadvantaged students ?

(A
(B)
()
(D)

Experience child care practices that do not prepare them effectively for school
Does not receive regular health care

'Are not exposed to a wide variety of experiences

Are not motivated to do well in school.,

Prer 4 @ = A- ﬁﬁﬁwwﬁ%wﬁaﬁﬁaﬁﬁ?ﬁmﬁﬁrm?ﬁ% ?
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11,

12.

13.

14.

6 R
Action research is different from basic research hecause
(A} it is conducted by teachers, educational managers and administrators
(B) it is conductled by researchers who have no relationship with school
() it is hased on standard tools ' -
(D) it is based upon samples.

femms sy difas o9 @ fim & HAifF ag

A 3R], e yerael TE SR g1 R W

®) whumTisH gR0 e s § e fremem @ w1 ey 11 g

(C) 7% YUY IUERl oY SNeid g

(D) 7% ey Wanuf@ ean € |

In the action research. action _

{A)  hypotheses are formulated on the basis of the causes of problems
(B} llypothescs are formulated on the basis of some rationale \
(C) hypotheses are formulated so that they can be statistically verified
[D} hypotheses are not formulated.

forameT® g |

A TRacTE SuEeel ) fab grens % ww W s #

(B) mmmaﬂmfmhmmﬁammmm%

) fFamas ITReTNsT f-WfUT 9 TR fFa st ¥ afs s wiferst v fea s
oF

(D) *‘%Wwaﬁmﬁﬂfmqﬁﬁsmaml

In Nziional Curriculum Framework 2005, multi- lmguahsm is advocated to be used as a
resource because .

(&)  itis a way of ensuring thatyevery child feels safe

(B) - no one is left behind on account of linguistic background

{C) it will enncourage children to beIieve in themselves

(D] all of these.

TETY sl wwEn, zoosﬁaﬁwﬁ@ww%ﬁwﬁwﬁ?ﬁmw%wﬁﬁ

L) T% Uk aha § o yow Srere g Tegd &

(B) W%mﬁ%wﬁéaﬁwwﬂ@qum

() = werR ® o W faverw ¥ ferd wieares g

) T g ast -

Which of the following is not appropriate to undersland science at upper primary
siage 7

(A)  Observing things and recording observations

(B) Plotting graphs '

(C) Hands on experience

() Learn the subject through abstraction.
ﬁmﬁﬁﬁﬂﬂmmmﬁﬁwﬁw%%ﬁﬁaammmwwﬂﬁ% ?
iA) mﬁwﬁwmam@ﬁaﬁﬁmﬁxﬁm
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15. Which of the following statements do not agree with multigrade teaching ?
(A) One teacher manages more than one class at a time
(B) Flexible sitting arrangsment '
{C) Interaction between and within grades
(D)  Students to be similar in terms of age and ability.
e 1 B & s wgds frem gl % @y ggafa T2 w@ar 2
(A} Umwmqaawwﬁwﬁaqﬁmwaﬁmwmw%‘
(B) FeA & FEieh e
Q) ﬁfmaﬁmaﬁﬁuawﬁa?&nﬁamm
B, Taenfei 1 oy wd e oUW HEH g |

16. In the cognitive development heredity establishes

(A) Lthe basic nature'of phy'sical structure such as hrain
(B) the development of physical structure
{C) . the existence of reflexes '
(D}  all of these,
gararens foepe # Swwd frviftg e 2
(A) nﬁmﬁﬁmmﬁwaﬁwmﬁ-
(B) VR daT & g &) '
(C) Ew Wi Thae % e B
P T A

17.  Which of the following statements is not corgect ?

1A} The teacher who believes that) development'is due to nature then for him
‘providing experiences is of ng value

{(B) Early expcriences are_important and teacher's interventions are also important
(C)  No teacher can help children in recovering from early negative events

(D) Development in terms of behavmural changes is caused by environmental
) influences. '

= ¥ & w1 mmwvﬁﬁﬁ% >

(A} wmsm%mm%ﬁwmﬁwﬁm%%mwmaﬁﬁ
E ARl e .
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(D) =ERIIHE WfEdd % wey § fawm anqreia gvEl % heasy € ¥ |

18. Which of the following characteristics distinguishes maturation from learning ?

(&) It is a natural process _ (B) It is dependent on practice

Q) It 1" dependent on motives (D) It is a lifelong process.

fre 8 Q 21 = fadrven wfeam w5 sferm ¥ ofem wEt ¥ 2

L A) TE T I wfee 8, uE svmg Wkt e ¥

() 77 Ut w el e # (D) A% <itEq vd= =od a9t iFa g |
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19,

20.

21.

22,

8 : Y,
Which of the Tollowing statements is incorrect about development ?
{A}  The development pattern has certain predictable characteristics
(B)  The goal of development is the achievement of hereditary potential
(C) The areas of development are free from potential hazards
(D} Early development is more critical than later development

ﬁmﬁﬁﬁmwmﬁm%w&ﬁﬂﬁﬂﬁ%?

(B) o SfamEr 5 g fafvam oot = afremEmn = W awn
B) fahm &1 IevF Mg W e 1 faer we &

© fowm & fGfum &9 § gors w9 @n &

(D}  IRfeaw fosre e W e 9 oo weeqef &

Gang belonging leads to improved souahzalxon in late childhood. Which of the following
statements is contrary to it ?

{A) Learns to he mdependent of adults

(B) Learns to carry out responsibilities

(C} Learns to be loyal to group:

(D)  Quarrels over most trivial matters and picks fight with g'mg members.

aﬁmﬁnmmﬁﬁ@mmwﬁmm% rﬁt{ﬁaﬁﬂmaﬁaam
faem & faatm & 2

@A) TaER W AT P e

(B) Tow=ifiEl =t s g &

(€) o191 9E % U9 FTBER 81 e ¥

(P)  BrA-DE A T TS 2, A T e & e el S

In summative evaluation the purpoese isito | |

(A)  find out how well a student has performed over time and at a variety of tasks
(B) facilitate learning and not to assign grades

(C} discover such a studenl who is having a difficulty in keepmgr with the rest of the
students '

(D)-  know the progress to the next unit of instruction.

e qAIFT P 3L B :

Ly Wﬁﬁﬂ@ﬁfwmmwﬁmﬁ%mwﬁwﬁaﬁm% 1 T
B) AYTH FH L T T AT T ISH FE

(C) @ﬁmﬁmwm@mﬁuﬁaﬁ%m&wﬁﬁmmﬂamm%
(D) PRl 39K & oTRvH ¥ 1@ yoifa %1 war e o

Raju was afraid of rabbit. At first the rabbit was pladed at a distance but gradually on
‘each successive day. the dlstance between Raju and the rabbit. was reduced. The

rabbit was finally placed in his lap and he started playing with it. This experiment is
an example of

{A)  trial and error learning theory (B) elassical conditioning
(€)  operant conditioning : ()  allof these. '

AR . so1] -
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AR T ¥ W w gt wE R T |mﬁnqaﬁﬁaﬁavﬁwaﬁt@waﬂxwmn
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() e T Al faa w=
B wrt aeeen fagra e
() e vga s fagra &
(D) =9 {9t )
23. The extrovert studeht differs from introvert student in which of the following
characteristics ? ' o
{Al . Strong feelings, likes and dislikes
(B} Expresses feeling externally instead of suflering internally
(C)” Absorbs in his own intellectual pursuits A
(D) Better in writing than speaking,
wfgewht faendi oraeddh famndf @ foa fodwar % mwwf%ﬂﬁm% ?
W TEEg e, TEe T el
(B) mﬁmﬁmﬁﬁﬁaﬁwmw@ﬁﬁmm%
(C) =7 difga el § g war ?
(D)  der T 9 faes | Swa | |
24. Which of the following statements is not true about intelligence 7
{A) It is the mental capacity of an individual '
(B) It helps in adaptation |
€ Mis judged in terms of the quality of behaviour
(D) It is permanent and unchanging characierstic.

ﬁmﬁﬁmmqﬁmaﬁﬁwqﬁ* ?
(A)  TE T G w AT aHa ¥
(B) % QIS / STFer Wifra # o e §
(C) 9g BqEgR HI U ¥ AR A @
M g g UE sraferdeite e € )
25. A balanced personality is one in which
(A balance is established between Id and Super-ego
(B) balance is established between Id and Ego
{C} balance is established between Ego and Super-ego
(D)  strong ego is maintained. |
T i safem 95 § g
(A) m@mm%aﬁauﬂmwﬁam:ﬂm%
(B) 39H U4 oY F wre wgor venfaa faen st ®
(C) ¥EH TS U(H SEH H SrY e T e e @
(B T SAEH Y TR S |
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27.

10 3

.. Which of theé following strategies wﬂl work for mentally retarded children ?

{A} Explam tasks concretely

(B]  Encourage students to set gozﬂs

(C)  Provide opportunilies for self study

(D} - Seek outside resources for help.
ummiﬁw@f%%maaﬁ$ﬁvﬁaﬁmﬁﬂﬁ? #Iafgmamﬁwﬁ 7
(A) = ® HE €9 W Ul

(33 Wﬁmawﬁuﬁam%%ﬁﬁwﬁaw

(C) = HA & AT TEH FE

(D) Wm%ﬁﬁam@wwﬁﬁmml

Dance, drama & art are used for _

(4) .development of specific traits \
(B)  moulding personality

(C) an outlet for blocked and intolerable drives

1Dy . all of these.

I, S WE foreusen w1 wan fEe s €

) fafe o ¥ faem R
- (B)  =3iE W elem % feig

28.

©) aﬁ@aﬁwaﬁwmaﬁmﬁaﬁwﬁw%@
my,  TH A

Difficulty in learning to read, spell & calculate, normal intelhgence and good adaptive
lunctions are the characteristics of

(A} - slow learners (B) normal / average leamers
() mentally retarded . (D} Iearning disabled children.
A, ST W T T HSHE, W e T S S ereds® ar fava 8
(A} iR T & e el wm B . wErsiEa shem w@
(C) ¥HHEF ®9 9 fYse awl ait (D) st Tt sremp +t |

29.

‘Difficulty in making the dlfference between fand v sound; for letters m and n is a

learning difficulty related to :
{A)  attention (B) . memory

(C) perception (D) - all of these. .

WU |, AU A e H oAt g wqmw sfm 7 T g @
A SEYE FRT B wfiwt

(C)  weaaitwTor =i B wE A

30.

According to the Right of Children to Free and Compulsory Edumuon Act, 2009
teachers cannot be deployed for

{A)  decennial population census (B) disaster relicf duties

(C) .nduties relating to elections (D) pulse polio programme.

ﬁﬂ?m"@ aﬁaﬁmwmwﬁma‘r‘w 2009 & =, faet ﬂﬁaquqoa?r f= 7 9 fam
wd % fog 7@l o s W 2

W TH A IYEE Al S e (B) mmwﬁﬁ

(C) T et e o M Uy gt SEEn Y )

-



31.

32,

33.

34.

35.

11
@vuE - I

R LR |

el

ST-1

TS H T 30TH E |
wt we aifEd §

frey ety Y Toa FreaRan Gell (YT T 814 37 ) F e 3P FrEed g

FET W Tt F A H A W, 9 o o ¥ a et gam & fed 9
Ha w1 ad § W -G @t e, m&mﬁﬁwwmmmﬁ‘@% | 7 € 9

< 3, v 8 de ¥ g 1 wiew- afsmmﬂaﬁani% | 5w - = % T fomm
aw%waﬁwaﬂqa%,ﬁﬂﬁﬁm,msﬁwﬁmﬁm_m_ﬁﬂn e, aifcgE, ST
| A9 TO@E | S U o o GuR F §, 98 feaa €@ sem-fata ¥ |

‘a1

dA e @ amm @

Q) vOd UE EY e
w1 U= S T 2
(A e

© wEm

‘wmﬁm‘aﬁ’ﬁlaﬂaﬁﬂﬁ%

@ e

Ky i

I g THIIA 8 7
(a)  To=md

© e
‘Higa’ ™ SgTET ®
(A} ®HGT

) et

(B)

D)

B

(D)

B

D)

(B)

D)

(B)
(D)

"so1]

ésa"{ng@r i

f&=d |

Iaqfw |

'ﬁm.rﬁl_'

[ P.T.O,



ST-1

36.

37.

38,

- 39.

40.

41.

42,

o e

@ e

) wew

ECCRL P PR S
@& T s

€ =t TRy F Rt d@ufh
T T B v e e (Wt wE 389 44 ) W wa sfuw fawew 9 ;

TR [y

(B) H_TWﬁTqT:
my ey

(B) ﬁﬂﬁ_‘qﬂ A
(I e fafy

®7% oft IS A A A 71T @ e |3‘émﬁa‘nﬁ A Iyal, T A, oy g,
AT T, ST A, ot WA ¥ A Ar-w-wE e e v S o wwateg s
S B | Fe F R e fae § o ¥ wit g ¥ @y fire -S[eTeRT S SIEER oA §,
wﬁmaﬁmﬁawwnﬁmww%aﬂtmwz‘ | 3797 FW TE S
TH 4E FARME TH G & gud W) =1 diar s '

e | aom v ®

(A) T

© T
ﬁmﬁﬁ%sﬁw%

W ¥

{C}_ LIGIC]
'aﬁ#’mquhm%ﬁﬂﬁ%
@ e |

4

) faey

_‘Gﬁﬁﬁ_'mﬁ?'ﬁ'ﬁf%. '

(@) o

(€ rsitfad

T VK H yogg qgi § 2
@ &
Q) - W=,

(D) HWEE |
[B} g
(D) |& |

(B) &t

(D) HTON |
B) - HwfER
oy @

B) WA
D)



[ﬂ 13 o ' ' ST-1
43. ‘fre-9a’ a9 = faus #

@ e & S oy e s ga

(C) WS | (D) EHH A I TR
44, f 9 sema ¥

{a) wHEH m) Gvs

© = o (O} B |

45, Tom @ fea e ol Pam e E 2

@ e e @ EH g

(C) #&m A=A - L) T T |

46. HV LS T 6 FRT T T 7

() e e, B) Ay

(C)  oIY& SR (D) AR HEH T
A7, a?ai"qﬂmﬁmm% - .

W fvewdma B e
o faddm | | ' (D) g A
o s e (1) ™ e w5 et ot A

(© frenfeiEil & swerw wE A o) wEAw
49, ufe ¢ fomneft srepg foraan ¥ & ey PO SUER FAA 7 |

(a) TrermaE e S ® ST e

() dam @ feE - D) IATETEN 1
50, i vy i TR oS e 4 — g o i &

@ R | @  feEw

fx wgd srot formm & . (D) W 3T |

51, ‘TEE S 8 — A
A W 9 (B)  FriuveHs TR

© I W | D) TeeE A

(L | [501 | o [P.T.O.

-



ST-1 | 14 Y]
52, vmaﬁrwmagﬁﬁmmwmwﬁ’r@ﬁﬁm%

@) fadrer gesy o B Fm fardrom wgHy
(« Wtﬁﬁm | S (D) T wREy |
£3. 'wu IEE geray % oy ¥ | |
@ R EEm e B FEFmEm
) FEH Fa | (D) & g |
54, '3d ¥ o w1 e | R .
@) T W e o B fEt R % e
(C) 3=r€E g S N R 8 9
E5. "EIE e H g1 Emani% B
(A) TR A W B I cEe ¥ ey TR E e 8
©  TeTe T woh o D) @ w Ao e A e E
W oeEeR @) S H
(€)  FvaR w=w Wy (D) o W& A |
57, T foiem F ‘ agaat wam w1 st | 1 3
I e o e
2}-_mﬁﬁﬁ%ﬁmmﬁ'wwaa (D) - SR ST R W H e
58. agwﬁﬁzm%%qm%: |
@ W | ; B =W
0, wifvs ' W | D) THIFPE AL |
59. fﬁaﬁqﬁﬁw%uﬁw&r%ﬁmﬁﬁmwﬁaﬁgﬁaﬂma@ﬁ%
@ (B WETER
@) AERR )  sEGE |
60. Wﬁwﬁﬁn@r% _ | |
W = R B =T
© = S . D) =F |
(I - [s01]

?'_—._
=



31,

32.

.33.

15 | ST 1
SECTION - II
LANGUAGE I
EP{GLESH

There are 30 questions in all in this Section.

All questions are compulsory.

An important assumplion of Communicative Language Teaching is that language
learning is learning to

(A)  speak accurately |
[B)\ write corrc-::tlsr

(C} communicate effectively _

{Dl master the grémmar of the target languége.

The four basic language skills are

(A)  listening, speaking, understanding and expressing
(B) reading, writing, speaking and communicating | _ .
{C) listening, reading. speaking and communicating

(D) reading, writing, listening and speaking.

Evaluation it a teaching programme

(A} takes place only at the end of the year

(B) takes place only at the end'efa lesson

(C) is a continuous process and goes on during lessons also

. (D) isnotan iht_egral part of teaching.

34.

35.

In a Matching Test students are asked 1o

(A}  match the related items in two columns

(B) replace an item with a matching item |

{C) completé a senlence with a matching item

(D) match unrelated items in two columns.

A language proficiency test aims at measuring

(A) Row much a learner learnt over a specific peric:d of time

(B} alearner's knowle(jge of ‘the whole language’

{C) alearner’'s knowledge of the rules of speaking

(D) a learner's knowledge of the content of a book.
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8T-1
36.

37.

39.

40,

N
[

42,

43.

44.
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The teaching of English aims at enabling the learniers to |
(A)  only understand the spoken or written language
(B} only express-our thoﬁghts and feelings in speech or writing
(C)  produce good literature in English -
(D) both understand and produce spoken or written language.
The Grammar-Translation method | ’
(A)  emphasizes listening and speaking
(Bl  pays no attention to reading and writing
(€}  has its major focus on reading and writing
(D)  emphasizes reading and listening. _
One of the principles of the Direct method is that )
{a)  classroom teaching should be done only in the targel languagc
(B} both the first larlguége and the target language Shduld be used in the classroom
(C) literature teaching should be the major focus S
(D) students in the classroom should only listen to the teacher’s lectures.
Television is an example of multimedia because it combines the mediums of
(Al pictures and sound .- B pictures and images
{C). sound and voice (D) sound and music.

Which one of the fo}lowing is not a visual aid ?

(A}  Blackboard B ' Radio

(C) Charts : D) Word cards.

Which of the following has all the words beginning with the same ( consonant
sound ? :

@  sun cty (B Kkite, city

{C} house, hour - | (D) umbrella, university.

Which of the following has the same vowel sound ?

(A)  trip. treat, try ' (B} good, food, pgshj
(C) she, see, seat (D)  pen, man, head.

Choose the correct phonétic symbol for the sound at the be'ginn_ing of the word ‘thick

w st/ - B  /0/

€ /th/ ” o/l

P‘;k out the coi’rect'phonetic transcription of the word ‘bridge’ :
Ay /bridz/ © . (B)  / braldz /

(€ / brig/ - (D) /brdz/.

-
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To which of the following questions will the sentence "People in the villages of
Rajasthan lead a very simple life” be an appropriate answer ?
(Al Why do people live in Rajasthan ?
(B)  Where do people of Rajasthan live ? |
(C)  Why do people of Rajasthan lead a simple life ?
(D} What kind of life do people in the villages of Rajasthan lead ?
Which of the following phrases has a determiner init?
{A} - The conclusion - (B) . Of two years
(C}  Social Development .{D) “Watching television.
Which of the following has the correct structure of a question ?
{A) When she did reach the station ? (B} When she reached ‘1.he station ?
(C)  When did she reach the station ? = (D) When she had reached the siation ?
They will invite all the children. : |
The passive voice form of the above sentence W1ll be
{A) All the children will be invited: (B) - The children will be invited by all
{C)  All the children will have invited (D) . The children would be invited.

Prose Passage I ( Q. Nos. 49 to 54 )

49,

. B0,

51.

52.

Most children start- watching television long before they enter school. Many doctlors
have come to the conclusion that children up to the age of two years should not watch
TV. The doctors are of the view that the first two years of life are very important for
the development of a child's brain. Spengding time with parents and others encourages
learning and healthy physical afdisogial dévelopmieni. As children get older, TV can be
watched to a limited extent. Children preparing to cnter school can learn the alphabet

-and numbers from educa‘uonal programmes. They can also learn about wildlife on

nature shows, Televnslon can be an excellent educator as well as entertainer for
thldren

Both the words ‘educator’ and ‘eniertainer’ are

(A)  nouns : _ -~ (B) pronouns
(€}  verbs : (D) adjectives.
The verb in the clause ‘they enter school' is in )
{A)  Simple Past Tense o _ (B} Simple Present Tense
' (C) Present Perfect Tense - . D) Present Continuous Tense,
In the phrase a good thmg, the determmer used is '
(A)  good _ (B)  thing
([C)  athing . ' ' (D) a.

Which of the following has the three degrees of the adjective in their correct form ?
(A) Cold, more cold, coldest _
(B)  hmportarit, importanter, importantest

. ([C) . Long, longer, longest

(D) Good, better, betierest.

[ | sl - (pero
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54.
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Conjunctions in the Passage (Il } are __
{A) that. and _(B) that, also
{C) about, and : D) about, a_lso.

The verb phrase ‘have come’ in the clause “Many doctors have come to the
conclusion ... " is in .

(A) Simple Present Tense ' {B) . Simple Past Tehsc
(C}) - Present Perfect Tense (D) Past Perfect Tense.

Prose Passage II ( Q. Nos. 55 to 60 )

5b.

56.

57.

58.

59.

60.

People in the villages of Rajasthan lead a very simple life. Their way of living has not
changed over the years. They live in circular huts. The walls of these huts are covered
with cowdung. Every hut has a small place for worship. The life ofithese people is full
of difficullies. It is very hot in summers and cold in winters. Water is a major probleni.
Sometimes they have to walk a long distance to get drinking water. For their
agriculture they depend on rains. But these people are very brave. They have learnt to
face difficulties and they never lose hope. They also like to enjoy their life. Women like
to wear dresses full of bright colours. People living in villages in Rajasthan have a rich
tradition of music and dance. The people of Rajasthan are very proud of their culture.

Which of the following words is a synonym for ‘brave’ 2

“{A) hardworking (B) valiant

{C)  prosperous (D)  enthusiastic.

The antonym of ‘bright’ is =
(A} colourful ' : {B) transparent

(€} dull A (D) dark.
Which of the following words is correctly spelt ?

(A)  definition _ _ (B)  defination
(C} difination ' _ (D) definetion.
The adjective ‘simple’ can give us the noun

(A)  simplify (B) simply

(C) simplistic (D) simplicity.
The way of living' can be replaced with the word _

(A) livelihood B) | liveliness
(©) lifelike D) lifestyle.
WhiCh of the following is an adjective formed from.'the noun ‘music’ ?
(A) musician (B) musical _
(C) musically : (D) musicality.
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SECTION ~ m
LANGUAGEII
ENGLISH

There are 30 questions n all in this Sectlon
©All questh_nS aré compulsory.

Peer as:;essmenl takes place when - :
a studént’s work is evaluated by onge’ or more students of his / her group
(B) a student’s work is evaluated by all the teachers
(C) a teacher's work is evaluated by all the students
) ateacher's work is evaluated bj( a student.
Which of the following is not a purpose of--évaluation in education ?
(A) Assessment of attainment '
(B). Measurement of the valge of teachlng methods
& Collection of information about the parents of learners
(D) To diagnose difficulties of leam\ers
A good language proficiency test - -
(A)  is entirely made up of only one type of questlons
(B) focusses on Essay Type questions alone -
{C) is completely based on Objective Type questions
{8, is a combination of Objective Type. Short Answer Type and Essay Type
questions.
A Remedial Teaching syllabus shotuild be based on
(&)  the teacher's impression of language difficulties™
3 students’ interest in learning a\]gog‘_uage ,
i} “an analysis of errors made by learners
(D) an analysis of the future needs of the Iearners
Remedial Teaching pays greater attention to students who
(A}  are proficient in English B) are likely to go abroad
(C} have fallen behind others 4D} areirregular in attendmg classes.

'Which one of the following is not an 1mporta.nt principle of language teaching ?

(A)  The students should learn a language by deing it.

(B} The students should proceed from the concrete to abstract.
(C'  The teacher should try to motivate the learners.

) The teacher should always tell jokes in the classroom.,

The correct order for teaching language skills is

(A sﬁezﬂ{ing,‘ listening, writing, reading

(B) speaking, writing, listening, reading

) listening, spcaking, reading, writing

(D) listening, reading, speaking, writing.

RN - [so1] - | | PO
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68.  One of the tasks of the teacher in Communicative Langnage Teacliing is to
) collect information abownt e social backpronid aof the g
{3} Jdetermine ihe language veeds of the teiumners
() provide suitable classrooms to the lenrrers
{D}  send progress reports to the learners’ -pareni.s.
69.  The main aim of Commuhi(:zzlti'w? Langnage Teaching is to
[A)  provide comumnunicative comapeicnee to loarners
(3} focus on the structure of the tardset fungange
(C}  emphasize the use of English as librairy npuage
(D) encourage learners to speak like native speakers of Knglish.
70. A healthy approach to a language learnier’s errors reguires that the icacher shiould
(A} condemn the crrors
{B)  look upon the errors as a fecdback o the ieachier
{C)  punish the learners tor their errors. -
M} completely ignore 1.]"1(.*'_01‘1*01”5.
71. The total number of (Tf(JIlS(}l’l&:lI'l_{.;S in English is,

(i 12 1538 24
@ 20 _ ' ™ 1w,
#2. The tirst sound in the word ‘cat’ is transcribed as
(A} Jea / S : B o Sel /
&y /14 . (L) A
3. The last sound in the word ‘pusli’ is franscribed as
{Ag AN {1 /ouh /o
<y /s / . ' { e/
74, Which of the folowing is. the cofrect ttanserintion ol the word “wide
@) /wad /o | (B wid /
Cy  / wide / - #9) Sownld S
75, Pick out the correct transcription of the word "hooks' ¢
{A) / b ke /- _ (3 / hooks /
Jet / bey ks / (D) / bookz /.

76.  The modal “could’ in the sentence "S0. students could progress in thcir.;‘-uw;u:’sitior!.‘."
means ' '
(A}« Students actually progressed in ...
(B} It was possible for students !o-[.)mgrcss in .
1€} Studenits had the permission to ;imgress) in...
() It was not necessary for studenis 10 progress ...
77. The wedding has been put off until December,
The phrasal verb .‘p_ut oif here means

) Postponed ‘ (B) (.Jm‘iv-:—:llc;c;i _ o j T
{Q) Fixed up %)) Brought forward..
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"An eclegy is a poem wrillen
(A) to celebrate an oec.asion
(B)  in the praise of God
(C)  to give expression to our love for someone
P} in the memory ol someone who has died.
\ sonnet contains '

(A) 16 lines : 1B) 14 lines

(C) 12 lines - (D) 10 lines.

All the dialogues in a drama contam the thoughts and feelings of
&) the characters (B) the author

Q) the audience : (D) the directof.

Poem { Q. Nos. 81 to 85}

- 81.

82

gr

84.

85,

I have seen dawn and sunset on moors and Wlndy hills
Coming in solemn beauty like slow old tunes of Spain :
I-have seen the lady April bringing the daffodils,
Bringing the spr mgmg grass and the soft warm Aprﬂ rain.

I have heard the song of the blossoms and the old chant of the sea,

And seen strange lands from under the arched white sails of ships %
But the lovehcst things of beauty God ever has showed to me

Are her voice, and her hair, and eyes, and the dear red curve of her lips.
“Like slow old tunes of Spain” is.an example of

(A) melaphor : (B) personification

{2 simile " | (D) “assonance. |

|*Ships” of line 6 rhymes with :

(A)  “Spain” (line2) @ “lips” (line 8)

Q) “sea” (line ) _ (D) “daffodils” { line 3 ).

The use of ‘old’ in “Old chant of the sea” tells us that |

{A)  the chant was popular in the past

(B) the seais no longer young

(C)  the chant has been there for a long time.

(D) the sea has been singing an old song.

Which of the follo\mng lines shows: that the speaker has travelled a lot on the seas ?
{A) Line 2 { “Coming in ... ") (B Line 4 ( “Bringing ..

() wLine 6 ( “And seen ... } (D) Line 5( “1 have heard I T

The most beauliful thing God has shown to the speaker in the poem is

(A} Lady April _ (B) His beloved

(C) Soft warm rain _ (D) Daffodils.

1T - e (7o,
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Prose ( Q. Nos. 86 to 90) ' :
There have been immense advances in technology in most aspects of people’s lives,
especially in the field of education. Nowadays, an increasing number of students rely
on computers {or their knowledge. Moreover, computers have been helping some
students to progress in their studies quicker than they did in a traditional classrpor'n.
in the same classroom, students have different intellectual capacities. Therefore, some
would be tied to a slow advance in their studies because of others' inability to move at
a faster pace. So, students could progress in their acquisition of knowledge at their
own pacc using computers instead of learning from teachers. As a result, some people
believe the role of teachers will now become less and less important in the future.
However, the presence of a teacher is esseritial for students because the human
contact influences them in a positive way. Students realize that they are not dealing
with a machine but with a human being who deserves attention and respecl. They also -
lecarn the importance of s'tudying in a group, which helps them improve their social
skills. Moreover, teachers are required in the learning process, because they
acknowledge students’ weaknesses and help them to solve their problems on an
individual basis. '

86.  The word ‘Therefore’ ai the beginning of fhe fifth sentence.of the first paragraph

indicates o _ _
(A) Compafison _ (B) _Similarity
(C) - Strong possibility @) = Logical result.

87. Pick out the correct verb form to be used in the sentence "The role of teachers .........
more important now” ;

{4)  have become ~ B) has become

_(,Gj | had become : ' : D) is become.
88. Which of the following can be a possible title for the _ab.(')ve passage ?

#A) Can Comi)uters Replace Teachers ? |

4B)  Can Teachers Replace Computers ?

{C)  Advances in Technology | |

(D)  Traditional Classrooms. :
- 89. Computers allow students to

‘ (A} control the teaching process . (B solve _their:teachers’ problems

i) learn at their own pace (D) improve their soctal skills. |
90. One of the limitations of a computer is that ] _

(A) it knows much less than a teacher ’

(Bl it ig less efficient than a teacher

¥4 it cannot provide human contact | _ o

(%) it cannot provide the latest knoy.:vledge. ' _ . R
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Section - IV /f @IS - IV
MATHEMATICS / 7ot
There are 30 questioﬁs in all in"this section.
' Ail questions are compulsory.
o are ot 30T ¥ |
Tt v e €
91. “Mathematics is the gate and key of all sciences.” These words are séid by

\

(A) . Roger Bacon | | - (B)  Hamilton
(@] ) Plato ‘ - " (D) B.ertra-nd Russell.
St e R FER W F R 1w T R
@ I B el
© wEE o) e
92.. In a child which virtue is developed by the stucl& of mathematics ?
()  Self confidence ' [ ® | Logical thinking
(&} An;uyuc thinking - (D]. All of these.
i % sveraT @ T o= § R W fw dad 2 | | |
W STt o - B aEw d @
© fowfwda D) FE AR
93. The importance of mathematics at p.rimary level is
(A) cultural : - (Bl mental
(C) practical : o D reljgiqus.

wrafie S W TE &1 9geE
w w0 B  AHREE _
© =T | ) ST | @

(11 o s -

ST-1

[ P.T.O.
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94. Principle of ‘General to Specific’ is used in

{A)  Inductive method B Deductive method
(C)  Synthetic method - | (D)  Analytic method.
' | fafire’ o fagra fne & @ fewd wam g ¥ 7

&) s fafa : | | B e fafy

(©) Frs?fw fafy | . D fareersn fafy |

95. In which method in mathematics, do we ysually take help of formulas and rules ¥
(&)  Synthetic i | | B)  Analytic
.(C} | Induction | : < (D) ' Deduction.
nﬁmﬁmﬁfuﬁwmﬂﬁﬁqﬁﬁaﬁm@ﬁ% ?
@) e ® oz
€ A | R ©

-

96. Two labotirers can do whitewash of a school in eight days. Then how many more

labourers will have to be employed to get the work done in two days ?
A} 8 ' (B) 6
© 2 . (D) 16.

forelt foremera =t qar o1 %, ‘q’rwmﬁ'—rﬁaﬂwﬁ% ; Eﬁmaﬁaﬁ?ﬁ{nmm%
mmwaﬂ'{aﬂﬁq@ﬁ ?

W 8 ‘ ® 6
© 2 - © 16

i o Ea

_4‘.i ‘ R
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97. Ram has 3 children and Mohan has 5 children. Each of them spends a sum of
Rs. 450 per month on the education of their children. Then whose monthly average

expenditure on education per child is more and by how much amount ?
()  Ram. Rs. 60 | . (B} Mohan. Rs. 90
(C} . Ram. Rs. 150 . {D) Both are equal, zero,

T F ARER F 3 e A F uRem H 5E ¥ 1wl o sl H foen W 450 Fo whwE we
wA e | faah qfic'auaﬂuﬁmﬁ;ﬁﬁr&nm_aﬂmm@a@w‘%aﬁtw ?

&  TH, 60%o _ (B)  HEA, 90 Fo -

(C} ™, 150 %0 o AD}. ﬂmmw%?ﬁq I
98. Ifa ﬁerson sells a thing of Rs. 90 at lé% prqfit.'ﬂ.’.}en the selling price is
® Rs. 90 | (B) - Rs.80
{C) "~ Rs. 99 (D) Rs. 100.
Tk =AfE 90 o i =R I 10% 9 Ta=dl ¢ | SH 98 Hhiawd goT ¢
(A)' 90 ®o - S (B) éo*&d
99 %o | | (D) 100%o |

99. What will be the Simplé, interest of one year on Rs. 500 at the rale of 1% monthly

{inRs.) ?
A 55 B} 50
© s | D) 60.

500 Fo W 1 o 1 T A 1% HIFEF 2 A T AW ( T H ) ?
A 55 : B\ 50
© 5 D) 60.

W L  [so1] - PTO.
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100. If a person sells a thing for Rs. 90 at a loss of 10%. then what is the cost price of the

101.

thing ?
{A)  Rs. 81 _ {B) - Rs. 100
(C) Rs. 99 (D) Rs. 101.

@wﬁs%{cﬁaﬁﬁ 10% THIH * W 'QOEoﬁaam%ﬁwansﬁﬁ&w%
(A)  81%o : ' 8) 10055
(C) 99%Fe | | o | D) . 101'50 [
Tl';e place value of digit 5 in the following four numbers
5821, .85.21, 2851, 1285 |
is respectively
(A). Five thousand. Five hundred. Fifty, F‘ive.
(B)  Fifty thousand, Five thousand, Fivé hundred; Fifty
[C) Five hundred, Fifty thousand, Fifty._. Five
(D) Fifty hundred, Five thousand, Fi\'/e, Fifiy.
frafafes =r el 4 siw 5 =1 v A
_58#1. 8521, 2851, 1285

m:%

i

AR) T R, Wi, ge, ot / B TEE TR, U9 TR, o9 W@, =

() e, T TR, T, O (D) = W, W TR, 9, v



Y - 71 ST-1
102, The total population { male and female } of a village is 4054. If the number of malcs is
2896. then the number of females is '
) .5940 _ {B) 1068
(C) 1158 . - (D) 1148

UF G FI Fo S (T T8 Y ) 4054 ¥ 1 AfE W w1 den 2396@,ﬁf@aﬁ_ﬁﬁ@r
(A} 5940 | ' (B 1068
) 1i58 , D) 1148.

103, There arc 642 students in six classes of a school. If the number of students in each

class is equal, then how many studént.s are there in each _class ?
W 17 B 107
71 D 170.
e e %6 Fael A Fo Rl 1 Hen 642 ¥ Atz v ww S el # gen T
&, @ woh wan i o faeneff ¥ 7 e
w17 B B) 107
@ 71 _ ) {3) 1.70.
104. The value of 10 coins of 25 paise is not equal to

1Y " 2 coins of 1 .rupce +'1 coin of 50 paise
{I-_S) T coinof 1 rupée +3 (TOi.TlS of 50 paise b

. {C) Zcoinsof i rupeé + 2 coins of 25 paisc
(D} 2 coins of 1 rupee + 1 coin of 50 paise + 1 coin of 25 .paise.
2558 % 10 Fawhi %1 oA BT § 9§ fep TR 96 ¥ 2
() moa?\zfaaéﬁf 504 1 1 feral ,
i lww.lﬁll'c_l’aﬂ+50."’3l'§a¥ 3 sk
(@ 1%0%:2%_+25ﬁ@(# 2 fawr
(D) im#zﬁﬁ+5oﬁﬁm1ﬁa¢u2sﬂﬁwq&:ﬁqﬁ|

T TS I ~ iero
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105.

106.

72 . Y
If we divide number 4 by number 6 then the dividend, divisor, quoticnt and remainder

are respectively
A} 4.6,0 4 - ({B) 6,4, 0,6

<y 4.6,4,0 _ . D) .6, 4, 6,0

HET 4 F WS 69 W < T Y, WIS, VIR UF U6 FHA: §

(A)  4,6.0 4 B) 6.4.0 6
£ 4.6.4.0 D} 6. 4,86, 0.

To create interest in subject mathematics in lower classes, the teaching method used,

- must be
(A)  recreative and game related By cramming
| C) _ induction : (D) deduction.

107.

@ﬁﬁmﬁaﬁﬁﬂﬁmmﬁxﬁlmmﬁ%m wﬁwaﬂwﬁmaﬁ‘q

) TS T W—%ﬂ B @&

i Waﬂ | | | (D) FoET

in which of the following. the subject mﬁthematigs is not used explicitly ?
()  Loss and profil | (B)  Cycling

) Purchase of vegetables | .~ (® Loan.

fret 8 frer o o 5 e e & A g 2

W mes @ e e

) HW@?‘]?HT .' | D) sERE |

LU N
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108. Ram is playing and putl.i'ng three balls as follows :
0 O O O O ®
o O O o0 0 O 00 00 O0

Mohan is preparing a table looking to his play : OO

Number of OOO signs ! 2 3

Number of bails 3 G 9

What conclusion can be drawn {rom their work ?
(A}  Ram is playing and Mqhari’ is doing mathematics.
{Bi Both Ram and Mohan are trying to generalize.

' (C} Both Ram and Mohan are playing only.

(D) Ram is doing mathematics and Mohan is playing.
T el G H e TR A A A A o R

® o o .o [0 0
OO0 © 00 0 oo e o

IGF 39 B Y HiEgd TE iRl S Wl 3

o i = e Tz s
WEt 1w 3 6 9

ﬁﬁ%wﬁ%m@mﬁﬂﬁwﬁﬁmﬁm%?

T T § s e T T

(B) maﬂ:waﬁmﬁﬁmmﬁ%y
(¢] maﬂtﬁ%ﬂaﬁﬁ»‘aﬂ@al‘%%i |
) mnﬁﬂwwﬁaﬂin‘m@am%n

501 .

|

—_—
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Y

109. 1f a student gcfs'faileci in Mathematics a number of times then lo know in which

particular branch of Mathematics is lﬁe-wcak, which of the following methods will be

used ?
{A) Written work (13)
(C} Diagnostic method {D)

QOral work

Remedial method.

)

 afe wh ferenef, mfor forwm & w6 A SR B W R, A aw S ¥ o fo e 1 e fod
T H g wHeit €, o @S- fafy wEm § #@h 2

(n  Tofad w9 (B
(€  FramTeTs ww (D)

»

SIS gl |

110. A studenl can gain speed in mathematicalealculation by

(A  discussion or debate B)
(C}  written work | (D)
(A) %ralm T fgare gra | | lt})
() fofem 7 g B 12

T -

oral work "

practice.

HE™ g o
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111. How many planes does a match box have ?
®w 6 | B 8
© o | | o) 4.
mﬁm i feell F TR aAE 7
(Al 6 : o B 8
© 9 | | O 4 .
112. Hoya: many lines can be drawn on a plane ?
(A) Three | ) . (B) Two
(C) lnﬁnite ' | ' D) .Nothing can be said.
o o R R T @i S sk € 7
(a) = | 8 . &

o s (D) 3B Tl %8 T8

113. If a transversal line cuts two parallel lines, then which of the following statements is

not true for the angles formed between them ? .
(A) C:ofresponding angles are equal
(B} Alternate angles are equal

C) Sum of the interior angles formed on one side of transversal line is two right
- .

angles

(D) Sum of the iﬁteridr angles formed dn one side of transversal 1i.ne is a right angle.
|NESAIN| o | 501 ] . - O P.T.0.
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?Ti%'aﬁmrat%@aﬁﬁwﬁﬁa%@maﬁ%aﬁmaﬂﬁmﬁaﬁvﬁ%m'ﬁmﬁﬁﬁ;—wj
(A T H TR T

B Wﬁwwﬁé%

(©) ﬁfﬁm“@%@aﬂraﬁ.m:ﬁvﬁwwawﬁmﬁwﬁm%

By 1@?@%’@3ﬁ?ﬁﬁ:ﬁﬂﬁmmwwéﬁm*mﬁl“

114. The weight of one litre of pure ghee is 910 gram. The weight of 700 millilitre ghee will

be
) 637 gm o - B) 13 gm
(C) 210 gm D). 63-7 gm.

T ST s = H S5 910 9 ¥, F1700 etz o 1 asm i @m 2
) e37um B) 131:m:r

£ 2r1o0um (D) 63-7UMH |

115. The perimeter of a rectangular.ﬁeld is 1 kilometre. If the widlh of the field is

200 metres, then its length is

&) 250 m (B} 800 m

(C) 300m | ' (D) ; kilomctré.

T S A w9 ufe | feeer 8 1t s dhend 200 7 A gaw o 3
(A) 250t | | B) 800

J}éi 300 1 . _ D) ;mﬁrﬁas

g morl -
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116. Arrangement of following fractions

in ascending order is -

1 3
@ 3. 7
frrferfaa fus
13
3' 4
1 AR T &
w52
1 2
€ 3.5

1

é .

3
4 1

2

5 1

5!

3

v 4 ]

EEgpey]

BN

6
7

ks

~3

77

B

(D)

(B)

(D}

117. The expanded form of number 35-507 is.

A)

(€

T 35-507 ® fawfd w9 ¥

Fig

30+5+ 5

3O+5+5

30+5+ 5

(B

(D)

®)

D)

5ot

6 2 3 1
75 4" 3
6 3 2 1
7' 4 5’
6 2 3 1
7' 5" 4" 3
6 3 2 1
704 ' 3°
35+5+100
5
30+5+100
’ 7
35+5+'m
5
30+5+100

'

7

1000 °

7

1000 -
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118. Write the following number in decimal form :

9 ,.9 .9
90 +9 + 10 * 1000 * 100060 -
A 99.999 _ (Bl 90.9999
© 999099 | B)  99.90909.
= e &) gves vy § fag .
9 9 g
90 + 9+ 15 * 1000 * 106000 -
@  99.999 B D (B 90-9999 - \
)  99.9099 o D)  99.90909.

119. Prime( fgctors of ﬁﬁmber 840 are
) 7Tx5x4x3%2 N M) TxB5EXx3x2x2x2
€} 7x5x3x3x2 S D) '?Ix5><.3><2><2_.
_ﬁm&}o%awﬂm%
(A) 7x5x4x3>§2' - (B) 7><5x3x2x2x2"
&) 7x5x3x3x2 : (D) 7x5_>§3><.2x2.'

120. The least comimon multlple ( L.C.M. ) and highest common factor { H.C. F, ) of two

consecutive natural numbers are respectively

: .{A] their product, their ratio ' (B) their sum, first number
. | Ny
(C)  second number, first number (D) their product. number 1. !
_ _ | | 2
ﬁmmﬁwﬁwwmmﬁﬁmwmm:%
(A) mwmm (B)  ITH A, TEA g

wmmmi S [se
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SECTION - V
|Us -V
ENVIRONMENTAL STUDIES
THETUT ST

There are 30 queslions in all in this section.
All questions are compulsory.
TH WIS i Fd 30T E |
wit e stEE §

-

121. Main aim ,Of e.valuation is

(A) lo maintain discipline

B) to cogdugt examinatiqn only

(C) o set question paper only

(D) to know learner's perlormance and bring improvement.
() A TS T
(B) éﬂ'aam?(manaw
(C) 3&aS WE-TA FAEAM
(o s ) AT S O O A

| 5O [ P.T.O.
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122, Which one of the following is cocurricular activity in science teaching ?
A Science club

{B) Audio-visual aids

{C} Text-book : {B) Black-board.

ﬁﬁﬁ@ﬁﬂﬂ-?ﬁmmﬁﬁwffmﬁ'ﬂmﬁ% ?
(A) ‘l%rs{m ENE] | : (B) aw—gwwqﬁ
£) I | D wEEw ‘

123. The process lo separate impurities from water, butter from curd, small stones from

wheat etc. is called

(A) Mixture : | B) Separation

(C} | Fi]iratjon tD) Subljxnaiion.
TH A | Mﬁ@wﬁiﬁiﬁéwmaﬁwaﬁﬁﬁm#fm%
@ fasm | | B  gEEE
© B . O s

124. Whicﬁ of the following statements is true ?
) Audio—visuéj aids are useful for students
I[B} Chart and graphs are audio-visual aids

{C)  Chests are useful only in social studies

(D) Audio-visual aids are not importa‘nt for efﬁéiency in teaching.

UL ECY

-
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Frer §  FA-T F A 7 |
(A) WWWW%WW?
@ = v T g e E
(€ T T i S o f A o
(D) %wﬁm%ﬁﬁm---wﬂmﬁwqﬁ% |
. . . . \
125. There is an initia1 lest beforc actual construction of a test. The initial (est is called
| {A](- Test plaﬁnihg ’ (B) Test pr.eparation
{C) Pilol study : {D) Final {.ry—out.
mmﬁwﬁamﬁqﬁaﬁmﬁwsﬁammaﬁvnww&waﬁmﬂﬁ #
{A) LRI SRl ISl EHFTI _ (B &L 1
) e wE | () b gy |

126: Which .ol the following states/country is adjacent to Jaisalmer, Bikaner and

Sriganganagar districts of Rajasthan ?

(A Gﬁjaral. | | _ ' (B) Madhya Pradesh .

(C) Haryana : ' - (D) Pak_ist.ah.
Iﬁmﬁ%ﬁ_ﬁﬁ—wmzﬁmﬁw, m?ml'am ST forel] & @ g E 7

) | T B3) T Hew |

© e e wfEE

IMIIIHIIIII\ | 501 | . | - tpTO.
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127. The name _of. first artificial satellite was
(A) Bhaskar (B) Aryébhalta
() Rohini ' 19} Edusat.

e T IWE T AW o

() TR ® . g
) Dfgoh | D) TZEZ |

128. World Environment Dziy is celebrated- on
(A 2lst May | ® 27 May
() oth June ' D) .. 14th N 6\-’Cmb§:r.
fowa e e e e 8 |
W 21w | | @) 27 .
© 5 | D) 14 TFE= t-..

129. Aquatic animals respire by

™ Lungs ) Booklungs
(C)  Air bladder ) Gills.

it ST # vEE e § - o ,
W e g - . 3 T 51
© - W FEE @)  TETEET 5

(N RIRpBRD | “So1] K

sy
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130. Observe the following statements carefully regarding National flag :

1. Uppermost colour saffron is a sign of sacrificé
2. Middle colour white is a sig.n of peace
3. Middle chakra is .B.. sign of peace and happiness
4. Lowér green colour is a sign of peace and happiness.
The following is correct with regard _td above statements : ' \

(A) -1lto 4 arc correct

B) 1. 2 3 are 'co_rrect and 4th is wrong
(Cj 1,2, 4 are correct and 3rd is wrong
(D) 2,3, 4 are correct apd 1st is wrong.

'Ueﬁqzi‘%%aﬁﬁﬁ#laﬁﬁwwmmeﬁmmr

1. H@W%ﬂfmfﬂwu@afmqum%‘.
2. "zﬁaﬁaﬁwwﬁmm%

3. wa # o i O gl A
a ﬁm.@ﬁﬁﬁq@%ﬁwm%

I9LH HAT ok o T wm R

i

@A 13 4THR ‘ - @ 1,2 3F9ETE 470 ¥
© 1.2 43T 3T D 234wt 17§
01 | - [ P.T.O.

R, | E:

1l



ST-1 ' : 84

”Y!

131. Morphological features found in the plants and animals according to the environment

are called
(A)  Adaptations . ®

(C) Modifications (D)

Parasitism

All of these.

A 3 S W T e 2 T e R e ) e ¥

W g . ®

) T

RESIER|

(D) T aEdt

132. Bird sanctuary of our state is situated in which district ?

(A} Sawai Madhopur B
(C)  Bharatpur

E’qﬁ.waﬂq&ﬁ&wﬁﬁ@ﬁl@ﬁﬁ?ﬂﬁ% ?
(A} TR R | . (B)

(C) AR

(D)

D) -

Alwar

Udaipur.

ITIYT |

133. Which of the following is not true with respect to Air ?

-

(A} Aircraft can fly _ (B)
(C})  Air occupies space .[D)
ﬁmﬁﬁaﬁmm&*mm%w&ﬁaﬁﬁ% ?

W AEEIEE | . B

(C) oY TgE B # : (D)

Air has weighi
Air has colour.

g # WR T R

ar § e R
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134. The energy stored in a spring of a walch is

(A Mechanical energy . . (B) Heat energy

(C) Light energy | (D)  Eleciric energy.
gl &I fom § dufeq s %_ |

(A _?Jr'r%rm* ot | : [Bj =1 FA

(C)  wHE S . o ) forew st o

135. Germicides used for drinking waler are
| (A)  Potassium permanganatc and chloriﬁe
(B) Potassium éhloride and chloriné
(C)  Sodium chloride and oxygen

(D)  Potassium sulphide and chlorine.

W % wH W IR S §
N maﬂwﬁ*ﬁ?amﬁﬂﬁ () Rfem wdREE e A
(C) mﬁuﬂm@ﬁﬁm' (D)  Oefirgd SEwEE de AR |

136. Observe the following carefully :
The above traffic sign indicates
(A)  Major road (B)  Narrow bridge

(C) Railway crossing (D) ngagéd road.

g o [sel) - . ero



5T-1

86
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ST AT Gk T e &

k4

A T veE By HwE e
(C)  YEd wREw L) = B ECT .|
| \

137. Smallpox and Rgbies diseases arc caused by

(A} -Virus | (B) Protozoans

Q) Bacileria D) Nemalodes.

T A ©) e

() S=Afen (D) ﬁﬁz’rrs* ol

138.

L

We lake food and digestion takes place. The useful substances from digested food are

aBsorbcd
(A) by wall of stomach. (B)

(C) by wall of large intestine (D)

by wall of small intestine

in the liver.

S T T W A % 5 v i 3 vt e s di &

(A mﬁaﬁaﬁaﬂ@
(©) . 728 =iA =) dran q

| 501 |

® O e W e

© wEad
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139. Plants synthcsiie lood by photosynthesis. Following are essential. during the process of
photosynthesis : |
{A) Oxygen, Water. sunlight and chlorophyll
(B) Oxygen, sugar, sunlight and water
(C) Carbon dioxide, water, sunlight and chlorophyll
.{I)] Carbon dioxide, _s'ugar. water and sunlight. |
Y W T g e AT | S e e st 9 ¥
() AT, Stet, T e wE ol . \
B)  atfeisE, vk, gd T v e
© FT SEHFEE, I, G &1 THF T A
(D) A S, YA, 9 T Hd S TR |
140. Normal temperature of human body 1s .
@ 33 Celsius B 58 Celsius.
[C}- 986" Celsius o BT Celsius.
TS YRR A A S |
@ 33 e | B
) 986 dfcwEm | (D) . 37 S |
14 1.. Minerals found in Udaipur and Bhiiwara districts are |
(A)  Zinc, Lead, Silver and Copper
(8) Zinc, Gypsum, Garnet and Gold
(C) Lead. Silver, Tungsten and Copper
(D) Silver, Rock phosphaté, Tungsten and é}ypsum}'
seaqT Zan siioarer foe # fies o wie §
N m@wzﬁ'eﬁ@a‘fm @ v, e, Mo we A
© A e (D) T, O e, Eme w fre

R - E L
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142 In which district of Rajasthan is petroleum pumped up ?

(A) Baran _ (13} Bharatpur

(C)  Jodhpur ' _ ' (13) Barmér!- _

TS % T (R # gt Preen s § 2 |

() A B) AR

©) v (D) @TEH |
1413. Moon eclipse occurs, when .’ <

(A} ecarth is between sun and _mﬁon \

(B) moon is b(;:t,wecn earth and sun

(C). sun is between earth and moén

(D) earth, sun and moon a.,re in a straight line,

O e, o T e E (B) ==, 9ot e e e

(C)  Hd, gl ud e & w9 g ¥ ) 9o, gd we e e e E ww §
144. National animal is n

A)  Peacock (B} Lion

_ () Tiger : (D) Chinkara.

i Ty 2 |

W R - ® W

(€ dm | ‘o) e

145, Sun-city is the name of

@A Jaipur ; (B)  Jaisalmer
(©)  Barmer @  Jodhpur.
@ wRE (B) SRR @
© srsmeaw Db T

R - | - ls01]
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146. Which of the [ollowing statements is correct ?

A Dowry custom is common in nuclear 'fam)'rfy

(B}  Child labour is common in nuclear family _

Q) Dowry and child—labouf .are social cvils

(D) Dowry and child-labour are common in cities.

=1 § | F1H-91 % H%? % ?

() T WiER | o w am ¥

(B) e AfEn e oW W A §

() TES qE el AW WIS Al €

(D) aﬁaﬁw-—mwﬁﬁmaﬂ%l
147. Human body remains only as a skeleton, due to

(A} Tobacco consumption for a long time

(B) - Alcohol consumption for a long lime

(©)  Drug addiction by family memb.e.rls

(D): Tobacco consumption by family members.

Wmmmmmﬁm%mw% |

o aﬁwwmmmﬁ B).. e W A I A e

@) qﬁanaﬁ?hvﬁgmwaﬂﬁ@ o qﬁaﬂ%a“nﬁ"ﬁ{r-ﬁ@r@_mmﬁ@1
148. Which of the following materlals is not used for construction of a house 7.

(A) Cement _ | (B) Iron

(C) Stones _ _ (D) Scoéter.

o & i R R e @
() EEE \ | B)  E
(C) TR N - (D) | e |

oA ST (0.
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149, Wool is obtained {rom

(A} Hair of Sheep, Camel and Yak
(Bj Hair of Sheep, Lion and Camel
{C)  Hair of Camel, Elephant and Rabbit

[D] Hair of Cow, Goat and Sheep.

_ : : ‘
S WTH g ¥ S | }

D .9, 32 W@ IF F I Y B) WS, I wd FT F A 9
) FrwhviEAw B A A () v e A A

'150. The houses of Monkey, Lion and Rat are sequentially
(A) .nest. tree and cave (B) cave, burrow and tree

{C)  tree, cave and burrow (D) burrow. tree and cave.

T, ﬁamq\%#mm:%

W e e TE B T e
© g, TH T faw o D) e, Y e

(R | | 501 ]
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. INSTRUCTIONS / fAdw )
( Read carefully and comply / ©4T & ¥¢ #\% uma= )
IMPORTANT /

a

in Secuon 1 (Language [} oa candidate has to attempt the questions of the language which the candidate has sclected as
tannuage 1in the Online Applicanon Form. ’ .
I ) (AT 1) AT ST & el ] e O i ¥ fre w9 aw avadt 3 o ) & T e ames v & e By
In Bection [ (Language 1] a candidate has to allernpt the questions of the language which the candidate has selected as
Language 11 in the Online Application Form, The Language [ will be different from Language 1. L. U
LT T IR W E Y R g S AW E e O e RO A T E BN H AAAES SERA-TE 0 TEE | Ay A | T e B
The candidate must ensurc that the Question Booklet Series Code has been filled cotrectly at the prescribed place in
the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code gnd not
Question Booklet Number, . . ) . N o

THvad oY @ oMR vz § fraifie wm woaw qfeee @ w6 oam 6 AYFT OMR FiE FT TRIEA T qfiqem
FHiw o 7 aftw uv gftawr W@ifs s & A o Ry A )

Read cutnipicte instrucions carefully and fill the detarls from S1. No. 1 to 3 in the OMR Answer Sheet and 81 No. 1 to 4.0 the
Quesuon Booklel, 1 vou fail i fill the details and SIgN #% instructed correclly, vou will be personailty responsihle for (he
consequences ansimng during scanning of vour OMR Answer Sheet. —

R 0 ET W AAE T S B | W 5 T OMR Wie U6 AW 1§ 4 0 W i (qFeiz) F1 wt ofe a9 e i g
TEATOT A W EGER A ¢ Al OMR WS F TR F Ferawn g am womt % wid A e 3meer

The Question oaklel comprises 96 pages having 150 questions. Afler being mstructed 1o open the Booklet, only then the candidates
will apen the Questioti Booklet seals. Chock whether the Buoldet contains 150 questions starting from Iuge No. 3 1g 90. z
T TR 96 I9 W 150 W ¥ wlemdl ey el S0 @ suenA v e Y di @ ugqhwaﬁaw‘ﬂmamqﬁ:-mn
o0 TFA 8 I 1 76 A 3 9 aTOeT EER 00 OF ) R :

All questions are of MCQ (Multiple Choice Question) type. There is unly one correct answer 1o each question carrying one
mark. There will be 1ig negative marking for wrong answers. . ‘ .
wolt s agfameda wER & €10 T 31 0F freed @ W 81 R N9 % B S 9 U | T WA % ford WIS s @ il A
AH questions otheg than language questions of Sections II and III shall be bilingual.

¥ T & W WAt TS 11U I % WA & S I w @ust % aye vt a1

ln any event of anv mistake any question/s, candidates will not be penalized. Howewver no corrécuons will be made in
yuestion /s durng the examination, . o . . e . L .

Frali o 5 bl T2 % $1a wiRT TR WA AT T S AT wen #7 At F oe % e g g e & ] SR
Kough work, i any, may he done in the Question Booklet only in the space provided at the end of the Booklet 0 not tear it off

from the Queston Booklel, No additional paper shall be provided. o . o i .

TRE S T F19 £ 79 qREen] A SFE 0 T A I ) TR W T 8 A6l a2 | fu mET e et S w8 S e s
Use of Log tables, Calculator, Slide rule, ‘Molnle phone, Pager, Digital diary or any ather clectronic item/instrument cte. s nol
allowed. Their use will result in disqualificatjon. | = : | = . . .
CT A, IR, TS Bl WElEel B, TR, fovied e an el 9= ssR et S ¢ 49 F 96 3
ESDID R i ct i i Bo il el e o '

OMR Answer Sheet will be provided along with (Question Booklet separately.

OMR Y2, W9 o = e sifaied W8 = = | : _ :

The Question Hooklet will be issued to the candidatesat l0:45 40, andsthe candidate must fill all enfries in Quoestion Hooklet
and OMR Answer Sheet. The Question Booklet scals'shall be opened at T1:00 A.M_Afier opening the Question Bookiet, ensure
that any Page/ question is not mssmg / not prinfedggtorn / repeated. In casel ¥ou lind any defect anywhere in the Question
Bookler, s)mmediaely inform the Invigilator and ge it replaced within 10 minutes by the [nvigilator. Warning Bell will ring at
12:253 P M. and the last long bell will mng at 12:30 12.M, . : e .- .
ST %1 W RAF W 10:45 3 A1 TN | S snava ¥ @ W gRaw S MR vt o wpdt Wt 6wt | o R ) e
AT F]H 1100 F &1 9T e A 3 e wisnd 9 9 aven o e san Pl wee e § 1w we g @ g

| SIS T # B e A R & FE S quNT S5 T B4 S W [ 8 g6 b @ S 32 9P T £ o A A FiaH FT grET B oA

10 ¥z & offew dllern @ T W g awor ¢ | SRE 2 12025 T s o A FE wE qMe 1230 W FI
Write vour Exam Centre Code, Roll No.. OMR Answer Sheet No., Question Booklet Series Code., Name and put your Signature
i the space provided in the Question Hookict as well as in the OMR Answer Sheet,

(T IR T OMR ¥ T FMINA TV W G 5 47 HiS, T I, OMR WE FHit, 5 §aE die 75, AW o w o g w1

11— -

Wuth each question vou will find 4 possible answers marked by the letters A, B, ¢ & D). Read each question carefully and Gnd out
which answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer
Sheet corresponding to the question. For marking answers vse blue/biack ballpoint pen only. Get pens / pencils are not allowed.
TEE Y34 % AW AFTF I A,R,CHDW&&W%IW‘WW;%Wﬁ E WWWT{MW&’TOMRWWWF—HHW
FAE F A A WA F W AR i A FA 0w F Ford A @ B A 0 T @ I ) ST U9 et 1 ST a2
1 APPSR . I 9 .

e method e RECT [ A E Ty WRONG / Trorr | | WRONG / Trorey WRONG / 757

Qoo e} (OO0 [0¥00] 10000 |00 e

OMR Answer Sheet is designed for computer evaluation 1f you do not follow (he instructions given above and at the backside of
the OMR Answer Sheet, it may make evaluation by computer difficult, Any resultant loss to-the candudate 60 the above account
shall be of the candidate only. . . L . . . . . . .
OMR 912 1 HPHZL TR Aruide & o7 9700 791 £t A0 3 I7d 7d oMk ¥We % HEa o w7 T FEe @ wem AE e, a
FEAZT FRI AT AR Hia €1 T T B0 F Wt H g A TR @ SR 39 /e e

Ko candidate should lvave the Examination Hall before the final bell. The OMR Answer Sheet is carbonless in-duphcate having
prrforation on dae top portion. Candidate should detach carefully the Original copy from the Candidate's copy tduplicate} so
tinat the Orginal copy is not mutilated in any way. Candidate should hand over the Original copy to the Invigilator before
leaving the Examination Hall. Candidale can carry the Question Booklet and Candidate's copy with him/her. N
T8 AT S 9T SO ¥ g T R 8 AR A T | OMR ¥z Fe e e S Wied &1 38F W W § /e
e gan & st mEaTT § anadt o wfy (Imf T | e i v s W ats e 8 e ui s # ot 3w
AT~ we BIIA & qA Tt e ol dteas at W & o otvedt F w03 e qfeTET orr o o o




